Non-perpendicular/non-parallel vector addition
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Vector Components=—
Components = parts

All vectors have 2 components one component runs parallel to the x-axis, one
component runs parallel to the y-axis.
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Compo?ent are(used to simplifv vector addition. J’

Vectors that neither parallel, nor perpendicular
should be broken info components, this makes parts which are parallel

(all X components are parallel to each other, all Y comps are parallél to each other). }/v ;
Find an X-total, and a Y-total _—
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Find an X total ( em
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Draw those tip to tail,(X total and Y total)
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‘(; 'né rhL (Qsﬂ&w‘)( &K
OSP; Tand
\\ -
3"07 -0

Niom€

1) Draw vectors

2) Break into x and y components

3) Find X total and Y total <= watch for negative directions
4) Draw X total and Y total TIP TO TAIL

5) Pythagoras' theorem for magnitude

6) Tan! for angle
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